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The correct statement is

(1) All the longitudes are great circle.

(2) All the longitudes are ellipses.

(3) All the longitudinal circles are
ellipses.

(4) All the longitudinal circles are
great circles.

Transfer of heat through horizontal
movement of air is called

(1) Radiation (2) Advection
(3) Albedo (4) Convection

Spring Equinox occurs on

(1) Between 20 to 22 March

(2) Between 21 to 23 September
(3) January 21 or 22

(4) August 22 or 23

Consider the following statements and
select the correct answer from the codes
given below :

A. Maximum density of earth is
found in inner core.

B. Maximum velocity of P wave is
recorded in lower mantle.

C. Velocity of S wave is less than P
wave in crust.

Code :

(1) A, B and C are correct.
(2) Only B and C are correct.
(3) Only A and C are correct.
(4) Only A is correct.

Towards poles, distance between
latitudes

(1) decreases slowly.
(2) remains constant.
(3) increases slowly.
(4) decreases rapidly.
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12.
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(3) 90° I & 220° T

(4) 90° eféfor 140° afem
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(1) T - fomeht
(2) PRBRIA —  USHRET
3) fogfma - seeh
(4 WeAW - FOW

10.

11.

12.

Koyna is a tributary of
(1) Godavari River
(2) Mahanadi River
(3) Kirishna River

(4) Tungbhadra River

The largest producer of Ragi in India is
(1) Maharashtra

(2) Karnataka

(3) Rajasthan

(4) Andhra Pradesh

Another name for Reh in India is
(1) Bhur (2) Kallar
(3) Bhabhar (4) Khadar

Antipodal location of 40° N latitude
and 140° E longitude is

(1) 40°N&40°E
(2) 40°S &40°W
(3) 90°N & 220°E
4) 90°S & 140°'W

According to Indian tradition, Jyaistha
and Asadha months corresponds to
(1) Varsha (2) Hemanta
(3) Vasanta (4) Grishma

Alluvial soil is found in which of the

following districts of Rajasthan ?

(1) Dausa, Dholpur, Kota and Sawai
Madhopur.

(2) Churu, Ajmer, Nagaur and Sikar.

(3) Sikar, Jalore, Baran and
Jhunjhunu.

(4) Jodhpur, Banswara, Pratapgarh
and Udaipur.

The incorrect pair is

(1) Etna - Sicily

(2) Karakatoa - Indonesia

(3) Visuvius - TItaly

(4) St.Helens - Japan



13.

14.

15.

16.

17.

18.

19.

frefRaa § & dweh i fFeT & -

(1) FRT-1, AXN-141 T =L
(2) TEH-9, IR TH-875 T fTER
(3) FANIAXI-664, < 843 qUT=I=A
(4) LTI 1147, TS 821 qU1 HTEA

ITE T HaTTe Te1 &
() TETaH (2 T™RIAGH
(3) TEEAANR (4) TR AG H

TG, TS T TS TG 8 :

(1) foreem o ferg

(2) =1 9eR % fo

(3) Tk wiEHe & fog

(4) A fag

I ) SHTOMT 201 1 3 ITTER (STafies
FFOET R 3ifam HAThe) TSI Hl
arefior & Tdlg SEEET @

(1) 772-227 (2) 71.4-259
(3) 73.1-29.6 (4) 75.1-24.9
TRIHR :

(1) e e fa. - SR

(2) WIS IFEE  — AR
3) femwme @it -
(4) TG I - T

T & gt fem Wer safer & :
(1) e, Seprr
(2) st e

(3) R, IARHA
(4) wiee, siaaret &

201 1 < SRTOFT & STTER WA 1 AT
T 0 femT e E

(1) 969,949 (2) 959,939

(3) 949,929 (4) 939,919

13.

14.

15.

16.

17.

18.

19.

Which of the following are the varieties
of groundnut ?

(1) RS-1,RG-141 and Chandra

(2) ST-9, RS-875 and Virnar

(3) RRU-664, BK 843 and Chambal
(4) WH 1147, Raj 821 and Mangla

Anas is a tributary of
(1) Mabhi river

(2) Gambhir river
(3)  Sabarmati river
(4) Ghagghar river

Kesarpura, Patan and Talwara are
famous for :

(1) Gypsum

(2) Limestone

(3) Rock Phosphate

(4) Garnet

According to Census of India 2011
(PCA final data), the rural and urban
population of Rajasthan is -

(1) 77.2-22.7 (2) 71.4-259
(3) 73.1-29.6 (4) 75.1-24.9

The correct pair is

(1) State Wools Ltd. - Jodhpur
(2) Mewar Textiles — Udaipur
(3) Birla White Cement— Kota

(4) Chandmari Copper — Jhunjhunu

One of the largest gypsum deposits of
Rajasthan are in

(1) Jamsar, Bikaner
(2) Birmania, Jaisalmer
(3) Kanpur, Udaipur
(4) Solopet, Banswara

As per Census 2011, the rural and urban
sex-ratio respectively in India is

(1) 969, 949 (2) 959,939

(3) 949,929 (4) 939,919
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20.

21.

22.

23.

NNP at Market Prices + Depreciation —
Net Indirect Taxes equals

(1) GNP at market prices
(2) NNI at market prices
(3) GNP at factor cost
(4) GDRP at factor cost

Which of the following defines measure
of personal disposable income ?

(1) Total personal income - Indirect
taxes + Subsidies.

(2) Total  personal
Undistributed profits.

(3) Total personal income — Personal
Income taxes.

(4) Total personal income — Corporate
tax + Transfer payments.

income -

Which of the following statement is not
correct regarding shifting of demand
curve ?

(1) Market demand curve of a normal
good will shift rightward if
population increases.

(2) Market demand curve of a normal
good shifts rightward if the price

~ of complements falls.

(3) Market demand curve of a normal
good shifts leftward if the price of
substitute falls.

(4) Market demand curve of a normal

good will shift rightwards if
complements  become  more
expensive.

National income at constant prices will
be lower than National income at
current prices during the period of

(1) Falling prices

(2) Rising prices

(3) Stable prices

(4) Changing costs
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24.

25.

26.

For the consumer to reach equilibrium
under indifference curve analysis

(D MRSIy = Px/Py and MRSX}, must
be increasing.

(2) MRS%r = Py/Px and MRS'W must
be increasing.

3) MRSW = Py/Px and_‘MRS)ry must
be constant.

@ MRSch = Px/Py and: MRSX), must

be diminishing.

Which of the following identifies the
unit of Account function-of money ?

(1)

Money is a convenient means of
measurement.

(2

Money facilitates the exchange of
goods and services.

Money allows the postponement

3

of consumption.

(4) Money provides perfect liquidity.

A consumer is in equilibrium when he
spends his income according to the

)

Law of diminishing marginal
utility.

(2)
€)
(4)

Principle of increasing returns.
Principle of equi-marginal utility.

Law of demand and supply.

o1
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g
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27.

28.

29,

30.

“Banks are not merely purveyors of
money but also in an important sense,
manufacturers of money.” This was the
remark given by
(1) Hawtrey
(3) Sayers

(2) Crowther
(4) Chandler

According to Economic Survey 2017-18,
which of the following country is on the
top with which India has negative
bilateral trade balance in recent years ?
(1) China (2) USA

(3) Saudi Arabia (4) Switzerland

According to the Economic Survey

2017-18, five states contributed 70% of

India’s total exports of goods and

services. These states are

(1) Maharashtra, Gujarat, Karnataka,
U.P., West Bengal.

(2) Maharashtra, Gujarat, Karnataka,
Tamil Nadu, Telangana.

(3) Maharashtra, Gujarat Andhra
Pradesh, Tamil Nadu and U.P.

(4) Gujarat, Maharashtra, Tamil Nadu,
Andhra Pradesh and Karnataka.

Under Statutory Liquidity ratio :

(1) Commercial Banks maintain a
certain percentage of Total Assets
in liquid form.

(2) RBI borrows a certain percentage
of Total Assets in liquid form from
Commercial Banks.

(3) RBI maintain a certain percentage
of Total Assets in liquid form.

(4) Commercial Banks maintain a
certain percentage of Total Assets
in cash with RBL

(=]



31.

32.

33.

34.

Ifas wuisiea & 9O ¥ TR

TN B RI e STeEi &1 =N
Rparsmaig 7
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Jremrate § fr=t 3§ @ for aut & WRa
IR Hqe o o &1 H W1 T ?

(1) Faaad 1971-72H

(2) et as 1975-76

(3) Faerad 1972-73 3R 1976-77H

(4) e as 1971-72 3R 1977-78 &

31.

32.

33.

4.

How many parameters are used by
World Economic Forum for measuring
Global competitiveness ?

(1) 8 (2) 10
(3) 12 4) 16

Who has added the component of
Health and Education in the Revised
Estimates of Poverty line ?

(1) Dr. S. Mahendra Dev and C. Ravi
(2) Rath and Dandekar

(3) Minhas

(4) Gaurav Dutt

According to Libenstein, Bandwagon
effect shows that

(1) Consumers imitate other
consumers in their demand
functions.

(2) Consumers refused to follow law
of demand.

(3) Consumers purchase products
only when their prices are
extremely high.

(4) Consumers purchase only

luxurious goods at low prices.

In which of the following years, India’s
trade balance was in favour of the
country during plan period ?

(1) Only in the year 1971-72

(2) Only in the year 1975-76

(3) Only in the year of 1972-73 and
1976-77

Only in the year of 1971-72 and
1977-78

“
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4

o o

35,

36.

3.

38.

39.

Which of the following product groups
have the highest contribution in India’s
exports in 2015-16 ?

(1) Agricultural products
(2) Readymade garments
(3) Gems and jewellery

(4) Transport equipments

‘Economic Planning’ relates to the
(1) Mobilisation of Taxes

(2) Allocation of Resources

(3) Planning of Manpower

(4) Foreign Direct Investment

Who was the Chairman of Task force on

. Employment opportunities constituted

by the Planning Commission of India in
year 2001 ?

(1) Dr. Montek Singh Ahluwalia
(2) Dr. Vimal Jalan

(3) Dr. Manmohan Singh

(4) Dr. C. Rangarajan

The most important feature of
Traditional Political Science is

(1) Scientific Method
(2) Focus on the Facts
(3) Philosophical Nature
(4) Empirical Study

Whose methodology was used to show
that incidence of poverty in India had
actually declined between 2004-05 and
2011-12 7

(1) Montek S. Ahluwalia Committee
(2) Dandekar and Rath Committee
(3) Tendulkar Committee

(4) C. Rangarajan Committee



40.

41.

42.

43.

el 3 ST Teherad) g A, e
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(1) < fafas |

(2) ST B |
(3) TN HI |
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(i) il
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i) Frafrand
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(1) (ib), (@), (iv), (i)
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(1) B9 9 (2) 3"
(3) sz =X (4) €T
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40.

41.

42.

43.

In his Monistic Theory of Sovereignty,
Austin is in favour of

(1) Common Law
(2) Natural Law
(3) Customary Law
(4) Positive Law

Identify the correct sequence of the

tenets of Behaviouralism as’

propounded by David Easton.
(i) Verification  (ii) Quantification
(iii) Regularities  (iv) Technique

Select the correct answer from the

codes given below :

(1) (i), (@, (v, (D)
) (), (i), (iv), (i)
(3) (v, Gii), (i), (@)
@ (i), (i), (v), @)

Even during National Emergency, right
to move any court for the enforcement
of the rights conferred by which of the
following Articles of the Indian
Constitution cannot be suspended ?

(1) Articles 20 and 21
(2) Articles 21 and 22
(3) Articles 14 and 15
(4) Articles 19 and 20

Who among the following advocated
that the central idea of Political Science
is power ?

(1) Max Weber
(3) David Apter

(2) Amos

(4) Runciman
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44.

45.

46.

47,

Which one of the following Directive
Principles of State Policy is given
preference over the Fundamental
Rights conferred by Article 14 and 19
of the Constitution ?

(1) Living wage for workers.

(2) Provision for early childhood care
and education to children below
the age of six years.

Protection and improvement of
environment and safeguarding of
forests and wildlife.

Operation of the economic system
does not result in the concentration
of wealth and means of production
to the common detriment.

3)

“

What is the percentage of total number
of members of the Legislative
Assembly of that State fixed by the
Constitution regarding the strength of
the Ministers including the Chief
Minister in a State ?

(1) 10%
(3) 15%

Q) 12%
4) 18%

What among the following is related to
the Modern Perspective of Political
Theory ?

(1) Logical Positivism
(2) Contextualism
(3) Institutionalism

(4) Historicism

M.M. Punchhi Commission has
recommended for provision for
Impeachment of the Governor by
whom ?

(1) State Legislature

(2) Parliament

(3) Council of States

(4) State Legislature and Council of

States
o
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Which feature of India’s constitutional
system becomes debatable ~ with
Membership of India to Commonwealth ?

(1) Republic
(3) Secular

(2) Democratic
(4) Socialist

What among the following terms is not
mentioned in the Fundamental Duties ?

(1) Spiritual Upliftment
(2) Scientific Temper
(3) Humanism

(4) Spirit of Inquiry and Reform

To whom a Judge of the High Court
will tender his resignation ?

(1) Chief Justice of High Court

(2) Chief Justice of Supn_em_e_ Court
(3) PresidentofIndia

(4) Advocate General of State

How many members from Union
Territories are elected in Council of
States ?

(1) 3
3) 5

2 4
@) 6

Which of the following pair is not
correctly matched ?

(1) Article 17;
Untouchability.

Article 21; Protection of Life and
Personal Liberty.

Abolition of

2)

(3) Article 24; Right to Elementary

Education.

Article 29; Protection of Culture of
Minorities.

4)

01
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53,

54.

55.

56.

ST

58.

(3) Kazakhstan

The Liberhan Commission of Inquiry
was commissioned by the Government
of India to investigate :

(1) the Gujarat riots, 2002

(2) the Anti-Sikh riots in 1984

(3) the Nellie massacre in 1983

(4) the demolition of the disputed

worship structure at Ayodhya in
1992,

Who among the following is not a party
to Chabahar Agreement ?

(1) Iran (2) Afghanistan
(4) India

Which one of the following is mainly
associated with Panchayati Raj in the
tribal areas ?

(1) Doomar Lal Baitha Committee
(2) Sadik Ali Committee

(3) Dilip Singh Bhuria Committee
(4) P.K. Thungan Committee _

Who among the following authors
wrote ‘In Defence of Globalization’ ?
(1) Jagdish Bhagwati

(2) Amartya Sen

(3) Walden Bello

(4) George Soros

According to Max Weber, Sociology is
the interpretative understanding of
social

(1) Action
(3) Group

(2) Interaction
(4) Institution

What among the following entries is
not included in the Eleventh Schedule
of the Constitution ?

(1) Cattle pounds

(2) Drinking water

(3) Libraries

(4) Markets and fairs
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Out of the following, which one is not a
form of Sociological Perspective ?

(1) Marxian Perspective

(2) Structural Functional Perspective
(3) Formal Perspective

(4) Evolutionary Perspective

Choose the correct sequence of
following concepts in the order of
increasing complexity ?

(1) State, Society, Community,
Association.

(2) Community, Association, Society,
State.

(3) Association, State, Community,
Society.

(4) Society, State, Community,
Association.

Out of the following, which society is
not mentioned by Herbert Spencer ?

(1) Simple Societies

(2) Complex Societies

(3) Compound Societies

(4) Doubly Compound Societies

Out of the following, which one is not
the Physical condition of Primary
group ?

(1) Physical proximity

(2) Identity of ends

(3) Limited size

(4) Longer duration of relations

Which one of the following is not true
about the Nature of Sociology
according to Robert Bierstedt ?

(1) Sociology is a Social Science.
(2) Sociology is an Abstract Science.
(3) Sociology is a Concrete Science.
(4) Sociology is a Pure Science.

01
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66.

67.

68.

Which of the following concept implies
that each social status involves not a
single associated role but an array of
roles ?

(1) Role set

(2) Multiple roles

(3) Status set

(4) Status sequence

Cyclical theory of social change has
been advanced by sociologists from
time to time. Identify the correct order
in which their contributions appeared in
sociological literature ?

(1) Oswald Spengler, Pitrim Sorokin,
Arnold J. Toynbee.
Amold J. Toynbee,
Spengler, Pitrim Sorokin.

(2) Oswald

(3) Pitrim Sorokin, Arnold J. Toynbee,
Oswald Spengler.
(4) Amold J. Toynbee, Pitrim

Sorokin, Oswald Spengler.

Which one of the following is not the
characteristics of class ?

(1) Achieved status

(2) Open system

(3) Class consciousness

(4) Ascribed status

People who have similar incomes or
one alike in other ways such as age,
occupation and  education are
sociologically known as

(1) Social categories

(2) Quasi-groups

(3) Social classes

(4) Secondary groups

The groups which provide experiences
based on ‘lack of intimacy’ are called
(1) Primary group

(2) Secondary group

(3) Tertiary group

(4) Reference group
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Name the author of the book

«Annihilation of Caste”.
(1) B.R. Ambedkar

(2) G.S. Ghurye
(3) J.H. Hutton
(4) M.N. Srinivas

A behaviour which is expressed by
violation of law through misuse of
public office for private gains is called
(1) Normal fact

(2) Juvenile delinquency

(3) Corruption 3

(4) Cultural disorganization

Which type of poverty involves
assessing the gaps in between the living
conditions of some groups and those
enjoyed by the majority of the
population ?

(1) Enforced poverty
(2) Absolute poverty
(3) Relative poverty
(4) Culture of poverty

Which of the following is not a feature

. of caste system ?

(1) Endogamy, purity and pollution,
ritual hierarchy and ascribed
occupation.

(2) Heredity, purity and pollution,
ritual hierarchy and ascribed

occupation.

(3) Exogamy, purity and pollution,
ritual hierarchy and achieved

occupation.

(4) Hierarchy based on birth, purity
and pollution, heredity and
ascribed occupation.
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Vir

“Moksha is extreme object of human-
life and the symbol of internal spiritual
feeling of human.” Who said this ?

(1) K.M. Kapadia
(2) P.V.Kane

(3) Erawati Karve
(4) G.S. Ghurye

In Vedic culture, which Panch
Mahayagya was not performed by

Grahastha ?
(1) Pitra yagya (2) Rishi yagya
(3) Dev yagya (4) Brahma yagya

Out of the following, which theory is
not related to origin of family ?

(1) Residential theory

(2) Theory of Sex Communism
(3) Evolutionary theory

(4) Theory of Monogamy

“Public administration consists of all
those operations having for their
purpose, in fulfilment or enforcement
of public policy.”

Whose statement is this ?

(1) L.D. White

(2) Woodrow Wilson

(3) Simon

(4) Nigro

Out of the following, which one is not a
probable cause of spreading AIDS ?

(1) Homosexuality

(2) Bacteria

(3) Blood donation by infected person
(4) Virus
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In the acronym ‘POSDCORB’, ‘R’
stands for

(1) Regular
(2) Reporting
(3) Revenue

(4) Resistance

The first stage in the evolution of Public
administration as a separate discipline
is believed to be

(1) Theory building

(2) Politics-Administration dichotomy
(3) Interdisciplinary studies

(4) Beginning of psycological studies

The first thinker to  believe that
administration is a ‘Philosophy’ was

(1) Dimock (2) Walker
(3) Smith (4) Marian Lewis

The other name for Hierarchy system is
(1) Systematic system

(2) Scalar system

(3) Unity of Command

(4) Control theory

“The sum of all acéomplished processes
to achieve a certain goal’ refers to
which of the following ?

(1) Managerial view of Public
Administration

(2) Classical view of Public
Administration

(3) Integral view of  Public
Administration

(4) Behaviourial view of Public
Administration

01
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According to James D. Mooney, the
‘First Principle’ of Organisation is :

(1) Recruitment

(2) Co-ordination

(3) Budget

(4) Reporting

Howthorne experiments is associated

with which of the following ?

(1) Classical Theory of Organisation

(2) Bureacratic Theory of Organisation

(3) Behavioural Theory of Organisation

(4) Human Relation Theory of
Organisation

Which thinker gave the ‘12 principles
to be considered at the time of decision
making’ ?

(1) Millet

(2) Seckler-Hudson

(3) Barnard

(4) Terry

According to Simon, the meaning of

‘Decision’ is

(1) Finding a problem

(2) Arisk

(3) To choose from different options

(4) The opinion of the supreme
authority

‘MORALE’ according to L.D. White is
(1)

Individual spirit

(2) The inner-possession of an
individual or group.
(3) The attitude towards individual

interests.
An emotional attachment,

4

Which is not the determining factor of
‘Span of Control’ ?

(1) Function (2) Time

(3) Political system (4) Place
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Read carefully the methods of control
of executive over administration.

I. By delegated Législation

II. By Public Accotnts Committee
III. By Policy Making

IV. By Estimates Committee
Choose the correct options :

() LI 2) LIV
3 LI 4 ILIV
In Indian Administration after

independence the importance given to
‘Gernalists over Specialists’ is the
effect of

¢y
)
3
4)

American Administration
French Administration
The Colonial age traditions in India.

The administrative traditions of
ancient India.

The time given to the present Lok Pal
to complete its inquiry

(1) One month (2) Two months
(3) Three months (4) Six months

If the complaint filed to Lok Pal is
proved to be false, then punishment
given to the complainant can be
imprisionment

(1) upto three months

(2) upto six months

(3) upto one year

(4) upto two years

ilNeed 'I‘}leory”
Motivation was propounded by

(1) Maslow (2) Taylor
(3) Likert (4) Ouchi

Hierarchy of

01
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9.

9s.

96.

7

98.

%))

. ‘Developmental

The seeds of monism can be found in *
(1) Vedanta 2

(2) Upanishads

(3) Vedas

(4) None of these

The Upanishads are primarily

(1) Source of Indian phllosophy and
spirituality. :

(2) Treatise on rites and rituals.

(3).- Prayers to-God.: - K

(4) Books on. Soc1al behav;dﬁr of

man.

What holds true for Descartes ?
) S 3

He was a Sl\epnc
He employed the methocl of doubt

in philosophy.

His method was neither inductive
nor deductive.

(4) All of these

According to Plato justice is

(D

To every man according to his
needs.

()

To every man according to his.
work.

Each to count as one, and none as
more than one.

(3)
(4) To do what one is naturally best
fitted to do.

Which one of the following could be
considered as most effective tool of
form’ of people’s
participation in Administration ?
(1) Right to Information

(2) Right to Service

(3) Right to Move to Court

(4) Meetings of Gram Sabha

5y
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Gross hedonism does not support

(1) Pleasure as ultimate good.

(2) Quantitative difference of pleasuré.
(3) Qualitative difference of pleasure.

(4) Pleasure as moral standard.

Which name 1is associated with

Hedonistic Calculus ?
(1) Bentham (2) 1.8 Mill
(3) Kant (4) Sidgwick

Socratic method is called.a method of
intellectual wifery

(1) because it is inductive.

(2) because it is deductive.

(3) because it is conversational.

(4) because it draws out what is latent
in the individual. -7

Which of the following is not a main
postulate of Kantian Ethics ?

(1) God

(2) Immortality of the soul

(3) Freedom

(4) Goodwill

In the Purushartha system of Charvak
‘artha’ is a means for

(D
(2)
3)
4

only kaam

only dharma

dharma and kaam

dharma, kaam and moksha

What does not hold true about
Aristotelian view on virtue ?

(D)
)

It is primarily a habit of choice.

It is a middle position between two
extremes.

©)
@

There are only four virtues.
It can be cuitivated.

01
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105. Which statement is consistent with

106.

107.

108.

109.

110.

freedom of will ?

(1) Icanchoose both to do or not to do
any action.

(2) External circumstances impact my
choice of actions.

(3) Whatever happens is due to my

destiny.

(4) The choice of my action is
determined by my  social
conditions.

The meaning of Nishkama Karma is

(1) Performing no action.

(2) Performing an action for God.

(3) Performing an action for selfish
interest.

(4) Performing action
attachment to its fruits.

without

Deterrent theory of punishment is
(1) To give what is due to him.
(2) To reform one’s conduct.

(3) To prevent others from doing that
act.

(4) To spite the wrong-doer.
Concepts of Anuvrata and Mahavrata
are integral to ethics of

(1) Buddhism (2) Jainism

(3) Gandhian (4) Gita

The ‘triratna’ of Buddhist ethics are

(1) Right thought, Right knowledge,
Right conduct.

(2) Sheel, Samadhi, Pragya.

(3) Truth, Non-violence
Brahmacharya.

(4) Right. speech, Right action and
Right determination.

and

What was the basis of the division of
Varna system according to Gita ?

(1) Guna and Karma

(2) Caste

(3) Birth

(4) Economic condition
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111.

112.

113.

114.

1is.

116.

Which of the following approach
provide strategy of writing for
psychomotor objectives ?

(1) Robert Mager's approach

(2) Robert Miller’s approach

(3) J.B. Watson’s approach

(4) B.F. Skinner’s approach

Which of the following is not a

principle of curriculum construction of

Social Studies ?

(1) Principle of Child centeredness.

(2) Principle of Community
centeredness. i

(3) Principle of Teacher centeredness.

4)

Principle of Interest.
In RCEM taxonomy of instructional
objectives, the category creativity
includes '
(1) Analysis and synthesis only.
(2) Analysis, synthesis and evaluation.
(3) Synthesis and evaluation only.
(4) Analysis, evaluation
knowledge only.

and

Which of the following approach of
writing instructional objective include
cognitive and affective objectives ?

(1) Miller’s approach

(2) Mager’s approach

(3) Piaget approach

(4) Herbert’s approach

Which of the following is not an aim of
teaching Social Studies in schools ?

(1) Development of Good Citizenship.
(2) Development of Social Behaviour.
(3) Development of National and
International Understandings.
Preventing social change.

4

Which concept/s is/are at the core of
Gandhian thought ?

(1) Truth

(2) Non-violence

(3) Truth and Non-violence

(4) Self-realization
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117.

118.

119.

120.

As recommended by National
Curriculum  Framework 2005, at
secondary level, Social Science
comprise

(1) History, Geography and Sociology.
(2) History, Geography, Sociology,
Political Science, Economics and
Human Science.

History, Geography, Sociology
and Economics.

History, Geography
Economics.

3)

4) and

The ‘RCEM Approach’ of lesson

planning is developed by

(1) Regional College of Education,
Ajmer.

(2) College of Teacher Education
(CTE), Ajmer.

(3) Regional College of Education,

Mysore.

(4) IASE, Bikaner.

National Curriculum Framework 2005

suggest to use the word

(1) Political Science instead of
Civics.

(2) Civics instead of Political Science.

(3) Public Administration instead of
Civics.

(4) Civics instead of Public
Administration.

A true/false question is an example of
(1) '
(2)
(3)
4

objective type questions.
essay type questions.
short answer questions.

No option is correct.
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121

122.

{ 123.

124,

125.

The statement ‘literature is the mirror
of society’, indicates the relationship of
Social Studies with

(1) Languages

(2) Mathematics

(3) Science

(4) Physical Education

Which of the following is not a
principle of effective use of Audio-
visual aids while teaching Social
Studies ?

(1) Principle of Selection

(2) Principle of Preparation

(3) Principle of Physical control
(4) No option is correct.

Edger Dale is
contribution of

known for his

(1) Classification of Audio-visual aids.

(2) Classification of Educational
objectives.

(3) Classification of different lesson
plan.

(4) Classification of developmental
stages.

Which of the following approach of
lesson planning is based on system’s
approach in education ?

(1) Morison’s approach

(2) Herbart’s approach

(3) RCEM approach

(4) Bloom’s approach

One of the main aim of teaching Social
Studies indicated in NCF 2005 is

(1) To develop reading and study

skills.

To develop wholesome personality.

(€3]
3)

To develop understanding of
social concepts.

(4) Develop sensitivity towards main
National worries such as gender
justice, human rights, disadvanced

group etc.

01



126.

127,

128.

129,

130.

131.

01

(1) wg-Tomedfia yom

(2) T gt ye

(3) et weieft s

(4) &g 3ITT 9=

frifea @ @ =9 @ dew By &

JEOT R ?

(1) g Sfta= i arafaes aRiRafet 9
ISR |

(2) I8 a1ferm o femi wwamafa §

(3) T ATTIEHAT <1 TIET0) Y- HEaT 2 |

(4) I8 TR g o arelt R

freiferd B @ sl @ ofaer Rifu w1 o
T AE R ? i

(1) IS ST

(2) wRfedf e e

(3) Temiten

(4) afehegan fmior

T IETE R

(1) e gt =

(2) gadt g &

(3) w3 |

(4) ¥ Toehea wdl i &

fifea # & w @ few smeg
IETHEERN G It R F

(1) Af&TsH 3Iger g

(2) SRATR 3TTeTE

(3) wi@ST 3T

(4) fisRta ITeeA

fr=ifera o @ = w1 Feurers et @
FEVR ?

(1) ¥ ifeet StRrm aRom s A FE E |

(2) T AR AT AR |
(3) T8 whITe  fersafgan arft et & |
(4) *1E faspeg gt T & |

27

126.

127

128.

129,

130.

131.

An objective type test does not include
(1) Multiple choice questions

(2) Matching type questions

(3) Completion type questions

(4) Short answer questions

Which of the following is demerit of
Project Method ?

(1) TItis related to real life situation.
(2) Itis based on laws of learning.
(3) It provides training for citizenship.

(4) Itis very time consuming.

Which of the following is not a step of
Project Method ?

(1) Planning
(2) Providing a situation
(3) Recording
(4) Making Hypothesis

Globe is an example of
(1) Projected Aids

(2) Non-projected Aids
(3) Audio Aids

(4) No option is correct.

Which of the following teaching
strategy is not a democratic teaching
strategy ?

(1) Brain storming strategy

(2) Question answer strategy

(3) Project strategy

(4) Programmed instruction

Which of the following is demerit of

essay type questions ?

(1) It measures complex learning
outcomes.

(2) Itis easy to construct.

(3) Subjectivity in scoring.

(4) No option is correct.



132.

e i Y P AT AT GEI T8 & ?

(1) g 3 T 3 1 I |

(2) IR SHE H R TR o<
SrETaatee J e ? |

(@) FARS T F FF, T FEA B
- freg g T I el § W TH T |

“?(4>anaufaaaaaaaaamaa

134.

(1) - aefsre
(3) gavitr

135.

136.

a?é‘fﬁaﬁ%l

133,.:_:33 £l ﬁmaﬁa g :
(1) aqﬁumﬁﬁﬁ ) gﬁﬁ'ﬁﬁ

"'(3) ﬁwﬁzaaﬁ

(4) %aﬁ?ﬁ?ﬁ

ﬁrq%ﬁgﬁﬁ%ﬁqiﬁ m% ey
Tt 3 T STrf T A e 7

) dEet
@ %ﬁFﬁ

wm%iﬁﬁwﬁﬁaﬁﬁ%aﬁmﬁﬁ
- Yaed 1 HUT HT IeoE FW B |

() %Eﬁ%i?g‘gm (if) T HYHTET
(i) gYaRE (iv) HTeTd-Tyd
EHETAELE

(1) (), (i) T i)

2) (i), (iii) T ({v)

3) ()W (@)

@ (@, (i), (i) T (iv)

Ty oTét wwr o @S WEUHE ITH el 5T
g7

(1) ITfREaT % YaiTel Wid §

(2) uiferea™ & Rig wra &

(3) BEhEmmH

(4) e

28

132.

133.

134,

135"

136.

Which one of the following statements

is not correct ?

(1) There are thirty three deities,
mentioned in the Rigveda

(2) The earlist reference of the. four
Ashramas is found in
Jabalopanishad. :

(3) Kuru was one of the ‘clans who

fought against Bharat clan during
Rigvedic period. _

) Four Varnas are mentioned in the
10" Mandal of Rigveda.

The teachings of Buddha are collected

.-,-.(1) Abhidhamm Pitak -
- (2) SuttPitak
" (3) ‘Vinay Pitak

(4) Vaipulaya Sutra

"Which of the folloW1;i§"-was not the
--provincial capital durmg the reign of
- Ashoka 7

= (1) Taxila
~ (3) Suvarngiri

(_2)_ Tosali
(4). Dhauli

Identify the literary sources, which
mention the story "of - Ramgupta-
Dhruvadevi.

(1) Devi Chandraguptam

(il) Kavya Mimansa '

(i1i) Harshcharit 2

(iv) Malti Madhav

Choose the correct code :

() @), (1) & (iid)

(2) (id), (iii) & (iv)

(3) ()& (iv)

4) (@), (ii), (iii) & @v) -

Where the big cities of Indus Valley
Civilization have not been found ?

(1) Punjab Province of Pakistan

(2) Sindh Province of Pakistan

(3) Haryana

(4) Kashmir Valley
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137, Which of the following is not a Sect of

138.

139.

140.

Suffism ?
(1) Saiyadana (2) Chistiya
(3) Subarawardiya (4) Kadiriya

The officer, who was given the charge
to award subsistence allowance
(Maddad-i-Mash) to scholars dunng
the Mughal period :
(1) Vakil
(3) Sadra

(2) Wazir
(4) Mir Bakshi

List-I denotes the Mughal Gardens and
List-II denotes the rulers under whose
reign the Gardens were built. Match the
two lists correctly.

List -1 List - II

I. Aaram Bagh - A. Babur
(Agra)

II. Shalimar Bagh — B. Jahangir
(Srinagar)

II. Shalimar — C. Shahjahan
Garden '
(Lahore)

IV. Pinjore Garden — D. Aurangzeb
(Panchkula)

- E. Akbar

Choose the correct code :

I I O 1v

1A B C D

2)E B C A

B3 A B C E

4 E C B A

Which of the following statements are

correct about Virshaivas Sect 7

(i) Basavanna was the founder of
Virshaivas Sect.

(i) It is primarily
Karnataka.

(iii) The Monk in Virshaivas Scct are
called Jangam.

(iv) In this tradition the dead body is
burried.

Choose the correct code :

(1) @), (i) & (i) (2) (ii) & (i)

(3) (@) & (iii) 4) (), (i), (i) & (iv)
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144.
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Who introduced Enfield Rifles with
greased cartridge in Indian army, which
caused the revolution of 1857 ?

(1) Henry Hardinge

(2) Ellenborough

(3) Dalhousie

(4) Canning

Which of the following statements
about Indian National Congress is not
true ?

(1) The first session was scheduled to
be held in Poona, but due to a
Cholera outbreak it was shifted to
Bombay.

(2) The first sessionr ‘'was held at

Gokuldas Tejpal ,Sansknt College,

Bombay.

There were 72 delegates in the first

session.

Twelve resolutions were passed in

the first session.

3)

Which of the following. issues was not
the part of the demands, which Gandhiji
sent to Governor General Irwin ?

(1) Restore conﬁscatgd properties of
- the Satyagrahis. /'

Lift the ban over the Congress.

Abolition of salt tax.

Complete mternal autonomy (o
India.

(2
3)
4)

Consider the following statements

about the defence policy of Shivaji :

(a) Forts were the vital components in
his defence system.

(b) Three men of equal rank were
placed in charge of each fort to
guard against treachery.

Which of the above statement/s is/are

true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.
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145. The year, in which England recognised

146.

147.

148.

149.

American Independence
(1) 1776 AD (2) 1778 AD
(3) 1783 AD (4) 1787 AD

Which among the following was not a
Finance Minister under Louis XVI in
France ?

(1) Turgot
(3) Colone

(2) Kropotkin
(4) Necker

Which of the following was not the part
of famous ‘April Theses’ of Lenin ?

(1) War be brought to a close.

(2) Banks be Nationalised.

(3) Land be transferred to the peasants.
(4) Tsar be punished for wrongdoing.

Chronologically arrange the following
International Conferences, which paved
the way for the formation of UNO :

I.  Moscow

II. Tehran

III. Dumbarton Oaks

IV. Yalta

Choose the correct code :

() LILIOLIV (2 ILLIV, IO
(3) IV,ILILI 4 LILILIV

Where the first conference of Non-

- Aligned Movement was held ?

150.

(1) Bandung (2) Belgrade
(3) Cairo (4) Jakarta
Who among the following was

entrusted the task to divide Punjab and
Bengal between India and Pakistan ?

(1) Sir Cyril Redcliffe

(2) Henry McMohan

(3) Sir Mortimer Durand
(4) Lord Patrick Lawrence
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